

۱۹.۵

از هر

نیمه در هر یک از این

$$f \circ f \left(\frac{p}{q} \right) \subseteq f \left(f \left(\frac{p}{q} \right) \right) \subseteq f(\sqrt{p}) \subseteq p \Rightarrow f \circ f \left(\frac{p}{q} \right) = \emptyset \quad (1)$$

$$0 < \frac{p}{q} \leq 1 \Rightarrow f \left(\frac{p}{q} \right) \subseteq (0, \frac{p}{q}] \subseteq \sqrt{p}$$

$$\sqrt{p} < 1 \Rightarrow p < 1 \Rightarrow f(\sqrt{p}) \subseteq \sqrt{p} \subseteq p \quad (2)$$

$$\text{انی)} f(g(m)) \Rightarrow g \left(\frac{p}{q} \right) \subseteq \frac{1}{p} \quad f \left(\frac{1}{p} \right) \Rightarrow \sqrt{\frac{p^2-1}{p^2}} = \frac{\sqrt{p^2-1}}{p} \quad (3)$$

$$\Rightarrow f(g(m)) \quad \frac{\sqrt{p}}{1-\sqrt{p}} \subseteq -\sqrt{p}-1 \quad [-\sqrt{p}-1] \quad (4)$$

$$1 \leq \sqrt{p} < p \Rightarrow p < \sqrt{p} < p^2 \Rightarrow -p^2 < -\sqrt{p} < -p \Rightarrow [-\sqrt{p}-p] = \emptyset \quad (5)$$

$$g \left(f \left(\frac{p}{q} \right) \right)$$

$$f \left(\frac{p}{q} \right) \subseteq \sin \frac{p}{q} \subseteq \sqrt{\frac{p}{q}} \quad (6) \quad g \left(\frac{\sqrt{p}}{q} \right) \subseteq \frac{\sqrt{p}}{q} \sqrt{1-\frac{1}{p}} = \frac{\sqrt{p}}{q} \times \frac{1}{\sqrt{p}} = \frac{1}{q} \quad (7)$$

$$\text{انی)} f \circ g(m) \subseteq \{ (t, d), (r, d), (y, l), (l, l) \} \quad \begin{matrix} \varepsilon \rightarrow \gamma \rightarrow \delta & \gamma \rightarrow \varepsilon \rightarrow \delta \\ \gamma \rightarrow \lambda \rightarrow \mu & \lambda \rightarrow \gamma \rightarrow \mu \end{matrix} \quad (8)$$

$$\Rightarrow g \circ f(m) \subseteq \emptyset \quad \varepsilon \rightarrow \delta \rightarrow X \quad \gamma \rightarrow \delta \rightarrow X \quad \lambda \rightarrow \mu \rightarrow X \quad l \rightarrow l \rightarrow X \quad (9)$$

$$2-) f \circ f(m) \subseteq \emptyset \quad \varepsilon \rightarrow \delta \rightarrow X \quad \gamma \rightarrow \delta \rightarrow X \quad \lambda \rightarrow \mu \rightarrow X, \quad l \rightarrow l \rightarrow X \quad (10)$$

$$3) g \circ g(m) \Rightarrow \{ (t, l), (r, r), (y, l) \} \quad \begin{matrix} \varepsilon \rightarrow \gamma \rightarrow \lambda & \gamma \rightarrow \varepsilon \rightarrow \gamma \\ \gamma \rightarrow \lambda \rightarrow l & \lambda \rightarrow \gamma \rightarrow X \end{matrix} \quad (11)$$

$$f \circ g(m) \subseteq \{ (t, l), (r, v), (y, v), (l, v) \} \quad f(g(t, v)) \subseteq f(g) \quad (12)$$

$$g \circ f(m) \subseteq \{ (t, l), (r, v), (y, d), (l, v) \} \quad g(t, h) \in g \circ f \quad (13)$$

$$(y, h) \subseteq (y, d) \quad (14)$$

$$f(an+b) = a^n + ab + b \leq n+1 \Rightarrow \begin{cases} a^n \leq n+1 \\ ab+b \leq n+1 \end{cases} \Rightarrow \begin{cases} a \leq n+1 \\ b \leq 1 \end{cases} \quad (4)$$

$$\begin{aligned} a \leq 1 &\Rightarrow f(n) \leq n+1 \Rightarrow f(-1) \leq -1 \\ a \leq 1 \text{ and } b \leq -1 &\Rightarrow f(n) \leq -n-1 \xrightarrow{n \leq -1} f(-1) \leq -1 \end{aligned}$$

$$\Rightarrow f(-1) \leq -1$$

$$\Rightarrow g \circ f(-1) \leq -1$$

$$g(f(-1)) \Rightarrow g(-1) \Rightarrow g(-1) \leq -1$$

$$n+1 \leq -1 \Rightarrow n \leq -2$$

$$D_{g \circ f} = \{n \mid n \in D_f \text{ and } f(n) \in D_g\}$$

$$n \in \mathbb{N}, \text{ and } n \in \mathbb{Z}$$

$$|n| \geq -n \Rightarrow \text{if } n \leq 0$$

$$g(n) = \frac{1}{n-n} \quad n \neq n \Rightarrow D_g = \mathbb{R} - \{0\}$$

$$n \in \mathbb{N} \neq 0 \Rightarrow |n| \neq -n \Rightarrow n > 0$$

$$\Rightarrow D_{g \circ f} = (0, +\infty) - \{1\}$$

$$\begin{aligned} n+1 &\neq 0 \Rightarrow n \neq -1 \\ n \in \mathbb{N} &\neq 1 \Rightarrow n \neq 1 \end{aligned}$$

$$D_{(f \circ g) \circ f} = \{n \mid n \in D_g \text{ and } f(n) \in D_{f \circ g}\}$$

$$\textcircled{1} n \in [-1, 1] \quad \textcircled{2} n \in \mathbb{R}$$

$$D_{f \circ g} = D_f \cap D_g = [-1, 1]$$

$$g(n) = \sqrt{n} \Rightarrow D_g = [0, +\infty)$$

$$f(n) = \sqrt{n} \Rightarrow D_f = [-1, 1]$$

$$D_{f \circ g} \cap D_g = [-1, 1] \cap [0, +\infty) = [0, 1]$$

$$\textcircled{1} \cap \textcircled{2} \rightarrow [-1, 1]$$

$$\Rightarrow D_{(f \circ g) \circ f} = [-1, 1]$$

$$\begin{aligned} f\left(\frac{n+1}{n-1}\right) &\leq n+1 \\ \frac{n+1}{n-1} &\leq n \Rightarrow \frac{n+1}{n-1} \leq n \end{aligned} \Rightarrow f(n) = \left(\frac{n+1}{n-1}\right) + 1 = \frac{n^2 + 2n}{n-1}$$

$$\therefore f\left(n + \frac{1}{n}\right) \leq n^2 + \frac{1}{n} \Rightarrow f\left(n + \frac{1}{n}\right) = \left(n + \frac{1}{n}\right)^2 - 2n + \frac{1}{n} \left(n + \frac{1}{n}\right)$$

$$\Rightarrow f(n) = n^2 - 2n$$

$$\begin{cases} g(f(n)) \leq 0 \\ g(1) = 0 \\ g(n^2) = 0 \end{cases}$$

$$\textcircled{3}$$

$$f(n) \leq 1 \Rightarrow n^2 - 2n \leq 1 \Rightarrow n^2 - 2n - 1 \leq 0$$

$$f(n) \leq \sqrt{n} \Rightarrow n^2 - 2n \leq \sqrt{n} \Rightarrow n^2 - 2n - \sqrt{n} \leq 0$$

$$n = 1$$